% t R A RRE

— Al B8 2 T g bRk
JC) S SRRy TRIE L ?r 9 ()= Qiiks + 20:0y X3 X

all alz = db LS alr\.
A= Qia O3l i Glan
in Qan - Gnn

(2). L zRIp+Y
> 413|404 (Al E) > - — (BIFPF)
R) piRwxei kP P P”

=DINZDIZD G (| s oD &
Bibesiist i &Y shane 7| (8.5 8)=(8 & 8)p =P,

i MiH1%: Xzt X, )
TL:?"KZ (XI):Pl(ﬂz)

X3 =4s o &

Z,: H.—Hz 2 3o
72,_:53_25; (Zz_): FZ /yz)

Z),: y} Zy js

+ - t
. G, %, %) = PP (4, 2, 3)
i
%i%@ﬂ W| = WI 2'
= (WZ = F5 (Z‘b
Wy - e 2

(i >, x))t: Fl P>_‘ P;(W" Wy V% )

Fe % (PP Py e (P'Fz%"..)“) Cpi p

HBSH T At -
TR Har A RR £ B T A ELE,




Y A

DY REAY)E S
% 5 RERS- ( f’

2

o \I-
N/
|
el
Wit <
Q wl-
e
==
= O
\_/

3- ;J}. ar—:fL; FtAF;E (gPS\'T/ B;FtAP>
t t
= F:tA.P,"'B‘ (AP st B,z P AP )

S o
= wik% % o P’(E )561,1*”4:?)
o
= ;l& F: ( Fq’ ]7}) PH- é/v‘n)tn Pz, € /men F; € Munxm Pfc/V\,m‘,
2y 7
e N o 0>( Pa P;)
(0 O>:B:Pt/\P:(F; Pnt)(() A P R
o (B

P:A’PL PztA'Pn

Pl‘tAIPb PIT/’)IPI

‘—;> Bl: Pl-tA'Pt‘t ?.7"{7&’1’0

= fost
b(p) €mim T romk (A1), e < yank CP) € m
m:YMﬂ/ )=

€. J 2 ,
o ryank(B)£2 AiEC Vﬂi%Fm%LFIH(V
4. =" g <27,

+ _(ZV 0
BWM‘ 51/7661,.(@) PAFP- b 0>

el a2
FRERAX
: X
k' I, t Z)» > /7_, 7[;
£ =t A= o 3 P / 0 %o
Xn ; E =)
{y,‘ ..,,)JA)

W "




Pz 4% -+ Yy
el Py
e e T AR O
U hBPRATIX, 2 TR . |
A LY Y, - YT R4 T, TR Clxi, Xs, XaJ BT,

Al
58I PeGLUR F*Ap:( iy )
: o

X o B ’ in
s o MRS el o ot i) Pl ¢
Vi ’ x‘ﬁ 1 — / O | | x"'

Y i) Nl

7 oL 2! {g >y
LY = = Ve + Y = Yeu~ 7 Ypod /

3] j[i’):f(i’)jli’) B fj ZIBEY xﬂ]%_ e
i(—’): 7 jc;;?) ' ’ i
f(g’) g(g’) e

'*:ﬂmf% AL
m st 0, = rankl §) €2, n/pﬁ‘]:gf: 1;547.,%_,,1}




= SRR RE mRRG R 0
Gz %) LT = R
55331 e S BRI 2 AT R
9.3 l.‘f)i'k%fzf’lrnﬂl%f»ﬂkq
i A¥ER & T Be (MilR) bilnliR) 5t A=B*R
DEIEER
AR
& ARIFTE RPTT SN % F O
S AN SO Ak

AT
£ AR EPTFIN A3 550
i1 Hoolamowel  inequodivy.
/0.1 1HRIRIE
G5 R BTE S AL 1ok = ik fo =R B 7 £
PRE A :a%%mﬁx%ﬁﬁéga :




R A, B, RriEs, mARAL B R LU S

Z)‘i S A.:‘f /_A‘L" Z:
4B M AR THE
Y, AN
5;):(7\1 (xz)
4 B dlilics
RY Yu=-Y +% - Yy BEFRIEFLT.
Q=4+ 3y +Tda- (4= o+ 43) = 47+ 2y, + by + 2t 2 h- 24 s

9 £ FFHIRS T AR

R |
B=(/ 20 )
S b

PawRE 3 I\ & 1 147 1 TR BIE%. 0.

0j 2 Sk A ESMulR) B olet (A)< 0. AERfs 7 o e
SEPR: B#olet (M) #0. PRt AR BER BERR AERE

2 olet(A) <D

2 AP TR

B nag X IR ], 2uEE

© AR B|axEV, 5 XTAX <.

Ew| vy XeV ZtAX » O
-0 ;Z:O

>0 AL%

®
7 1B,



e % 3k A€ SMAIR) R ERAEPS ~EBRA’ RERKEFS
SEBE. -0 ARER o T PeGLIR) 5t A=PP
V2 A= OPP)LPTP) = PIPPIPI~ PP
KR
Q= Pt o QER, M AR, o

72132 1. JBIRIR FAPENEIFE el VERI- 2 R’ L(¥)
_q ) Bk, Rty S A €SMIR), RIALIER ©-A (£)RE,

JIEBR: L X € v\55 ] ®
Q)70 ——> = 9loc ) <308 [

Y=

4(X)%0 & 9(X)< 0 Ap

o/gq. SB AESMAlR), A, -, An B ARUIRE 37 . VEBA.

ARN = (D)Fae>0 ISl

SEBE. 50 2eB-ABINRE T 3. B UGBS ¢ J2i=-0a 2

Q>0 AP (-nkoe 70, b 2in

W 'A&ﬁ‘:——) J2>0, \/2270,
mﬁl%glﬂ}o, f\&‘k = ('l)kAk>O, /2:/,2)-~.) n

]




k. (5 BRTAR

passt R A5 B
PiAR =
0% - VB2
(1) et pr=1

= olot( A)=zolet (PPAP) = olet (B) (A= vBD ).

(1) A% R Gl (F) 50 @B | = obog (M. A y "

C*(E : )(Q A el |
O a_ﬁtg-ll? 0 | ) =0 - Ans O
c AR poiT
o] &

@35 2% B e SMn CIIZ)_[E';.QI‘\?e}[Z""l H ne iR s
e
JIFE i (Vt 4 ) '
IFBH - 2P olet (A)= 0, K AXTER,

B pER
- B Lot En-.

HLin) &P
A e




